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Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x10=10

woTe frare Fost SR vee it ¢

(a) Which of the following national level
federation was formed in 1920°7?

TEq (FIRCe! G T PO Sd30 5O

aAfool =1 2T ?
(i) INTUC
(i) AITUC
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(b)

(iii) UTUC
(iv) HMS
(Choose the most appropriate answer)

(TDIZerF THe TR AR Tfear)

Are collective agreements legally
enforceable ?

AYRE Tz SNTToeE 7R R #«
AT ?

(i) Yes, otherwise they would be
worthless.

=7, TZCE GIEAR S (R AR |

(ii) No, they are never legally
enforceable.
A3, CIREAR (FEANE AEITOE TR
T o[/ T

(iii) They are presumed not to be

legally enforceable unless the
parties agree otherwise.

SFEILT O 4@l e ffwaitece
(FIRAIR TSI TR I R I
Seat
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(c)
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(iv) Only those made with trade
unions.

@R (BT ToRTe (e Ao |
(Choose the most appropriate answer)
(@1Ze%F Brye Bewh! AR ThTed)

On which ground can a trade union
refuse to admit a person or expel a
member ?

e s (5w ToREE e I of

SR N R JRHA TR TR I
AI?
(i) Goodwill damage
sfroRe
(i) Misconduct
T ]
(iii) Change in job
BIPiRe #{f<e
(iv) Relation with manager
ARGl TS TS
(Choose the most appropriate answer)
(eizers oge Tewh! AR OfFTed)
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(d) Workers’ participation in management

(e)

(9)

is an important form of non-financial
incentive to the workers.

(State whether the statement is true or
false)

AARGIEe wfeT SKd whieTRaR e

SRSR ST @ wFgd T4 |
(IGYCB! o1 7 N7 Teard )
Under policy, employees are free

to meet the top executives of the
organisation and get their grievances

redressed. : (Fill in the blank)
o7 wfiTe THTPRE AZT AL
TR AT T (SEEITT SfolaT
AL TS FRACET FIE |
(=T 212 279 =)
The conciliation officer is given the
power of (Fill in the blank)
EEEREERIE T el Al =)
(7] 212 959 71)

A union is a group of employees who
bargain the terms and conditions of
employment.

(State whether the statement is true or
Jalse)

T g TS @B (il R i peien
F NIIETR 7w S|
(IS0 3t o % Cemy )

BO1FC 0007 4

(h) According to Factories Act, 1948 no

woman shall be required or allowed to
work in any factory except between the

hours 6 am and 7 pm. .
(State whether the statement is true or

false)

S SR, S8y SR (I WML 7 v

qE Al A @ TER oIS I I

PRSI SR Al A T R
(Feyeh! b1 1 i TR 79)

The Factories Act, 1948 requires that

. appointment of the ‘Safety officer’ in
factories employing at least:
S8 oI IAAI i1 PR ST i e
fraifers TS T e Rl fe e 3
(i) 250 workers
y¢o T HpEE
(i) 500 workers
¢oo T HREF
(iij) 1000 workers
yooo T HNF
(iv) None of the above
@9 (SIEIDIRE T
ect answer)
(oo e et 1 Braa)
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()

Before the Industrial Dispute Act was
implemented, which Act took care of
the industrial disputes ?

BT R Sl TR (R SIS e
e S Rame Ty Al e

(i) Trade Disputes Act, 1929

(i) Royal Commission on Labour,
1934

(itj) Labour Management Relations Act,
1947

(iv) None of the above
G (GRS =

(Choose the correct answer)

(9% CTesch! iz Tfaveay)

Answer the following in brief: 2x5=10

weTeo MAIERT 533 e Al ¢

(a) State two objectives of industrial

relations.

ST T 751 To o |
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(b)

()

(d)

(e)

Define industrial discipline.

SIfRe SIHIFWR TR a3l |

State fwo reasons of forming trade
union.

G AT oiov9 75! IR0 Trad 9 |

Highlight any two benefits of workers’
participation in management.

SAfBleTre SR SIRHATE [T 700
ASST Coe Il < |

Define lockout.

TPOGh9 A Wl |

Answer the following questions: {any four)

5x4=20

wee MANEIRE ©es o1l ¢ (Rigseeent oifao)

b

(a) What 1is the role of workers
participation in 'management in
promoting industrial harmony ?
STIHF TN SARE (7 “/R5Emre wfies
eI i 2
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(b)

Briefly discuss the potential benefits of
collective bargaining for employees.

51 PR I AR KM ISR T RTIET

Targ o9 vl

(c) What are the common challenges faced
by trade unions ?
B© AT YL (1 A LN
& e

(d) Briefly discuss the causes of industrial
indiscipline.
ST SEHPFENSR IR [T 5
S 4

(e) Write a note on the role of government
in maintaining good industrial relations.
-G TR @R IAO 5P !
Se{ch Ot (Bl Tl |

() What are the key differences between
layoff and retrenchment?
SRS i AR R AES o ALy &
&2
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4. Answer any four from the following
questions : 10x4=40

oo [MAIEIRE 7191 Rz bif<brq ves foidi

(a) Discuss the functions of Joint
Management Councils. What is the role
of workers’ representatives in the
board ? 5+5=10

@2 SIREEm oiffare PR [REE SETel
| 6o wfie afefiiRe ek [

(b) Explain the factors affecting growth of
industrial relations in India.

Tigew SUHiE Ao Jae dOd AN
IReTRe [ ot 11

() Define collective bargaining. Explain

different types of collective bargaining.
2+8=10

e v el fra | fiew s ArRe
vwISS [EeE il 40
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(d) What are the key objectives of a

(e)

(9)

grievance handling machinery ? Explain
the different types of grievances that
can arise in the workplace. 5+5=10

el Fagd 359 3o Sy [ &2 witrae
e =@ o[ [Rfer @ wferank [Ee e
Al |

Are trade unions relevant in a modern
industrial society ? What are the
advantages and disadvantages of trade
unions ? 2+4+4=10

YR ST TIETS G TR AFRER
@2 (BT TTHTE AR W SHRUAEE &F 52

What are the provisions regarding
health of factory workers ? Explain.

FRLFE WS FEE T & & Ram o
[ TR

What are different types of strikes?
Discuss the potential consequences of
strikes. 5+5=10

[fon gqem «si4n 5 [F2 e o[y s dfes
e witEea /11 |
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(h)

When was ILO formed ? What are the
three main organs of ILO ? Write any
four functions of ILO. 1+5+4=10

ILO &foml 516w a1 (afesi? ILOR foMot 52
wiRel 2 ILOT Rz bIfa6r et foral|
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